s1(u) = —b1(u)

s5(u) = —b5(u)

-0.1

2.3 2.5

2.1

0.3

-0.3

Dataset:

concrete

1. Cement

/
s2(u) = —b2(u)

ConcreteCompressiveStrength

5. Superplasticizer

60 80
ConcreteCompressiveStrength

POM

Initial state

N3POM (instance=1)
N3POM (instance=2)
N3POM (instance=3)
N3POM (instance=4)
N3POM (instance=5)
N3POM (instance=6)
N3POM (instance=7)
N3POM (instance=8)
N3POM (instance=9)
N3POM (instance=10)

PC2

s6(u) = —b6(u)

1.8 2.2

1.4

0.30 0.40

0.20

PCA plot of X

2. BlastFurnaceSlag

ConcreteCompressiveStrength

6. CoarseAggregate

ConcreteCompressiveStrength

Frequency

20

Response (ConcreteCompressiveStrel

s3(u) = —b3(u)

1.00

s7(u) = —b7(u)

0.20

60

40

1.20

1.10

0.30

0.25

Histogram of h

0 20 40 60 80

3. FlyAsh
-1 4 -7~ ~ -
7/ - -
a /7
\ Vé
T - T T T T
0 20 40 60 80

ConcreteCompressiveStrength

7. FineAggregate

0 20 40 60 80
ConcreteCompressiveStrength

log-likelihood
-1.65

s4(u) = —b4(u)

s8(u) = —b8(u)

1.0

-1.55

-1.75

-0.8 -0.4

-1.2

20 25

15

log-likelihood via MPS

™ T T T T T
0 1000 3000 5000
Iteration
4. Water
[ [ [ [ [
0 20 40 60 80

ConcreteCompressiveStrength

8. Age

ConcreteCompressiveStrength



